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ARYEEe R8st Fgete A4S T3 N8 47342 59 48 N At
ol 9y, gz, ok IS % AR 5], a3 4FEE o YR &
ol givt matd AAd B Eol7te 107F] @A F oA Ji
WZ 2ok, i, AT, HR)F FHAA ALHE 103(2, 27, 9F,

A, $A, gd2)g 77 #I59 IR (eE, 299, =AY, 2AFL, 2383 4
A 2(TDF, IDF, SDP)& £33t 43 JEAolE vaAUhET olF Holdfia A2
FaAE =&

ZUAL kA F RS HF(2059%), F3) S FH(7.95%), 2HHE L FH(15.15%), &
A FA(13.89%), 2AFaE F71(2291%)7F 7HE den, T4 dlF FESHS =
2 3H(3247%), 23 (8.06%), 2HHUAL JF(20.10%), A2 WE(9.73%), 2H4Fihe &
71(2882%)7F 7V Eth TDF(total dietry fiber)= Wil E3(87.33%), T34k BH
(86.43%)°] 7} =ken, IDF(insoluble dietry fiber)e FWAt2 E3(86.37%), TF4He 53
(8598%)°] 714 =¢ten, SDF(soluble dietry fiber)e Il BH(6.06%), T4k Z

(4.14%)7F 7+ = JTHTDR(Y) % IDF(X)3te] A4 b2 Y=0.96X+4.80(r=0.99, p<0.01),
F3AL Y=0.96X+3.14(r=0.99, p<0.01),TDF(Y)$t SDF(X)9l 3HAAL FU2 Y=-687X+
62.97(r=0.51, p<0.05), 5 %A+ Y=-871X+5893(r=0.50, p<0.01) &2 o3t ool A
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